EI32REAXRDVEHYH—KEEE
Fo2ELUFEBU—-10Yvh—TzRAToN)L BREHKR

JAavy | —pk 1431 2 3 4
A L—FoREevbn| BBES21=7 HH FEFSC
A
B 4Ly FSC #|BERJIFC VCEHEHUAL N
C E&E B 1T VCA LA
B
D #fESC EF—IR H URR—Y
E VCELTEFH 1T} S N EBTS50T
C
F FitEBEA R iR LIn J€E7
AEBE RIOVHTEIZEYFEERAT 5. e
A EvTF E&m| o - 0 |[t>kO AER- 74T
©) 9:00 B EvF VCALEM&| 2 - I MEL AER-EF—HA
C EvF Wk 2 - 0 |8 AER-v1A
A EVF I\ 1 - 4 |EE @
@ 9:30 B EvF B 4 - 1 [HF ©)
C EvF JF7| 0 - 2 |FHERAH ©
A EvF FEIF| 1 - 1 | T#1H ®
® 10:00 B EvF E#| 3 - 0 |EH @)
C EvF VCELTEH| 7 - 1 [\sBYS5oT @
A EvF 2#4IbSF| 5 - 1 [veERUAL ©)
@ 10:30 B EwF EF—HZ| 7 - 0 [URFR—Y ®
C EvF xal o - 1 |3k ©)
A EvF EfmE| | - 0 |FE @
® 11:00 B EvF VCALEM®| 1 - 2 |EH# @
C EvF k| 1 - 2 |VCEXEH @
A EvF AN I - 8 |ZAILbyF ®
® 11:30 B EvF AR - 1 |[#—9% ®
C EvF JF7| 0 - 2 |>xn ®
A EvF t+orOl 1 - 0 |FT&H ®
@ 12:00 B EvwF ITE - 2 |ER ®
C EvF BE| 3 - 0 |[/N\sEBISVTF ®
A EvF £l 2 - 1 |VCEHUAL @
12:30 B EvF HF| 5 - 3 [urR‘B—Y @
C EvF FiESHA| 3 - 0 |k @
A EVF E&mm| 3 - 0 |F#IH
® 13:00 B EvF VCALA®| 0 - PER
C EvF Wi 6 - 0 |[/N\yEYFUT
A EvF AN I - 1 |[VCEHAUVAL ©)
13:30 B EvF 1=iEl 5 - 0 |URKR—Y ©)
C EvF €7 0 - 3 |k ©)
A EvF +or0f 4 - 0 [ZE
a 14:00 B EvF x|l o - 0 |E:E
C EvF BBl 0 - 4 [vCEXEH
A EvF g5 1 - 2 |FAILEST an
@ 14:30 B EvF HF| - 7 |EF—UR @)
C EvF HHE[ 1 - 0 [>xo )




F20LUBEIBU—-10HYh—Tz XA To/NILEREHER

) —JERRiER

| A/ Efm e |EBSC | THH| Ba | 88 | &8 |8%E| B i
2 1

= 153 3] 0A0|100(300 7 4 0 4 2
. 2 1

IL—TF Rt rO 0ADO0 4001100 7 5 0 5 1
0 1

¥ & S C 001|004 1 A1 1 1 6 -5 4
0 1

T B A 0@3|(0@1|1A1 1 1 5 -4 3

) —J Bk RiER

|_ J\{X |BEEUFC prrrorsc |vozmunL | BEm | B K| |#RE| IEA i
0 0

J\ = 104|008 |0@1 0 1 13 -12 4
2 0

s B JUFC |[401 1@2|201 6 7 4 3 2
3 0

J4J)LEkmFSC |800(201 501 9 15 2 13 1
s 1 0

VCEHULMNL 100|1@2|1@5 3 3 7 -4 3




Fo2RLUBEBU—-10YH—IzATa/NNIILEHEHRER

) —5 B piER

| C/\ vestos sisss | EFE |EFE | Ba | B85 | k8 | BKE| B B o
0 0

VC 5 L M & 203102002 0 3 7 -4 4
1 1

I 8 s S S 302 0A0|1@2 4 4 4 0 3
) 2 1

* E 201(0A0 300 7 5 1 4 1
2 0

x & 200(201|0@3 6 4 4 0 2

) —5 B piER

| D/ wiEsSC|HH| |[Er—ox|uzf—y| Bm | 88 | kA |BXE| B4 i
3 0

¥ # S C 401201500 9 11 2 9 1
1 0

H F 1@4 17503 3 7 14 -7 3
2 0

TS — 49 X 1@2|701 700 6 15 3 12 2
. 0 0

UX K —wv 0®5|305|0@7 0 3 17 -14 4




Fo2RLUBEBU—-10YH—IzATa/NNIILEHEHRER

) —5 B piER

| E/S I |BESC |vemtem|varsr | BEA | BER | kA |BXE| B A S
2 0 1

1L 177 200(1@2]|600 6 9 2 7 2
1 0 2

# B S C |0@2 004|300 3 3 6 -3 3
. 3 0 0

VCE T & H 2011400 701 9 13 2 11 1
N 0 o0 3

INTETSVT 006|003 |1@7 0 1 16 -15 4

) —5 B piER

| F/\ OE7 |sumee [T 0O |fHR Brm | 88 | &5 |BLE| B B 2 &
0 0 3

- E 7 002|002|0@3 0 0 7 -7 4
3 0 0

o B 8 H 200 100(300 9 6 0 6 1
. 1 0 2

> T m 200|0@1 0@ 1 3 2 2 0 3
, 2 0 1

il Ik [300|l0@3|100 6 4 3 1 2




